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INDIAN SCHOOL AL WADI AL KABIR 
 

Class: XII Accountancy Department: Commerce 

Worksheet No:2  Topic: ADMISSION OF A PARTNER 

            Comprehensive Sums  
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5. X and Y are partners in a firm sharing profits in the ratio of 3:2. The remaining 

capitals of X and Y after adjustments are Rs. 80,000 and Rs. 60,000 respectively. They 

admit Z as a partner on his contribution of Rs. 35,000 as capital for 1/5th share of profits 

to be acquired equally from both X and Y. The capital Accounts of the old partners are 

to be adjusted on the basis of proportion of Z’s capital to his share in the business. 

Calculate the amount of the actual cash to be paid off or brought in by the old partners 

of the purpose.  
 

 

 

6. A, B and C are partners in a firm sharing profits in the ratio of 3:2:1. D was admitted 

into the firm with 1/4th Share in profits, which he got 3/16th from A and 1/16th from B. 

The total capital of the firm as agreed upon was Rs. 1,20,000 and D brought in cash 

equivalent to 1/4th of this amount as his capital. The capital of other partners also had 

to be adjusted in the ratio of their respective share in profits by bringing in or paying 

cash. The capitals of A, B and C after all the adjustments related to revaluation of assets 

and reassessment of liabilities were Rs. 40,000, Rs. 35,000 and Rs. 30,000 respectively. 

Calculate the new capitals of A, B and C and record the necessary journal entries for 

the above transactions.  
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10. X and Y are in partnership sharing profits and losses in the ratio of 3:2. The 

capitals of X and Y after adjustment are Rs. 80,000 and Rs. 60,000 respectively. They 

admit Z as a third partner who is to contribute proportionate capital to acquire a 1/5th 

share of total capital of the new firm equally from both the partners X and Y. 

Calculate capital to be brought in by Z. Also, calculate the new profit sharing ratio of 

the partners in the new firm. 
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13.  

 

  
 

14. A& B are partners sharing profits and losses in the ratio of 3:2. C is admitted for ¼ and for 

which Rs. 30,000 and Rs. 10,000 are credited as a premium for goodwill to A and B respectively. 

The new profit sharing ratio of A:B:C will be ____________ 

 

15. X and Y are partners in a firm with capital of Rs. 18,000 and Rs. 20,000. Z brings Rs. 10,000 for 

his share of goodwill and he is required to bring proportionate capital for 1/3rd share in profits. The 

capital contribution of Z will be ____________ 
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16. Navya and Radhey were partners sharing profits and losses in the ratio of 3: 1. Shreya was 

admitted for 1/5th share in the profits. Shreya was unable to bring her share of goodwill premium in 

cash. The journal entry recorded for goodwill premium is given below: 

 
 

17. Rohit and Mohit were partners in a firm sharing profits and losses in the ratio of 3:2. Rahul was 

admitted into partnership for share in profits. Goodwill of the firm was valued at Rs. 30,000. Rahul 

brought Rs. 40,000 as capital and Rs. 5,000 out of his share of goodwill premium in cash. At the time 

of Rahul's admission, goodwill was appearing in the books of the firm at Rs. 15,000. Pass necessary 

journal entries for the above transactions in the books of the firm on Rahul's admission.  

 

18.  X and Y were partners in the profit-sharing ratio of 3: 2. Their balance sheet as at March 31, 

2022 was as follows: 
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19. Bhumi and Chavi were partners in a firm sharing profits and losses in the ratio of 5:3. They 

admitted Aditi in the firm on 1st April, 2022. On that date their Balance Sheet was as follows : 

 
 

Aditi was admitted in the firm with 1/3 share in profits on the following terms: 

(i) Aditi will bring Rs. 3,00,000 as her capital. 

(ii) Aditi will bring her share of goodwill premium in cash. Goodwill of the firm was valued 

on the basis of two years purchase of average profits of the last three years. Average profits 

of the last three years were 60,000.  

(iii) Machinery was revalued at Rs. 4,60,000. 

(iv) The capitals of Bhumi and Chavi were adjusted on the basis of Aditi's capital by opening 

current accounts. Prepare Revaluation Account and Partners' Capital Accounts 


